EARAROBEEIERT — 2 N— IBISH —F

20145F8H290 (&) 9EIAHS5H

Il 7 >%—#% C3—= B R
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= > # o4 | REF 1:14.3 3-3 3.1 — 6 503 | HHAR—X (KFH)
118lig| TN T —H— 56.0 il e | ZlteE
RTAVHCARRX B:Svd—EF— RO
. 4 o4 | BERER 1:14.5 2-1 38.6| — 5 495 | BRA—SR (KH)
2(7l9 | FavITANTIL 56.0 (1 1/4) (1) | ERERT
L:d—IRAaqfO— B:vILahor—35 RS
S = e . i) : - — FREEATE (KH)
3l7lg| F5¥—=>=n 45 oy (11.114/.47> 7-5 38.2 1 <4+729> %QE%:Z
R:Zxv> B:A—-L>Y—N—F B E—
B i s 7 | FEY 1:15.0 4-3 38.8| — 3 429 | FAIGE (KFH)
4 2 77)I/'77' [NZS gﬁ.JO (a 1/2) (+4) Z2EEE
R4/ FLLy b BTSRRI —1 FREHS
S, o o6 | K— 1:15.5 9-9 38.6| — 11 471 | BBAREE ()
5 4 [N S G I 56.0 (2 1/2) 1) BEMEAT
L:AaRYIFNIT—/ B:HPR)—Y—7> 1Tz ]
. H o5 | SIBEE 1:15.7 56 392 — | 4 | 443 |[HA—K (K3
6|5/5|7>7V 453.0 (3/4) (1) | EHamsE
L:FUr—hT7> BTFEN HREWS
B 5 o4 | KBS 1:15.8 8-8 39.1| — 7 455 | BHE=ER (KH)
7 6| >—1T—-7N 56.0 (1/2) (-g) |EREE
LA —FNHTr BUU—E—FZ NI Sl
o = 4 | AR 1:16.3 1-10  [39.1| — 9 460 | BOBEZ (KFH)
8 7 '73""7_//1_—7 H 56.0 - (2 1/2) +1) Wgﬁg—
L:XTT—= R VXTI T—F BFURR=NTF wmF '
3 4 6 | AL 1:16.9 1-1 Mnal - 10 | 478 |HRERE (M)
9 3| ¥avy 54.0 3) (1) | EFI—EB
LNAFTRE— AT b—1)— ZH EC
S, L0 47 | B 1:17.1 10-10 | 40.0| — 2 506 | MAETaZ (KH)
100111 AAFTFI)ET 56.0 (3/4) -7 AR
R:yA7% B:TLAFT 1 —IEK EAHTT— L
. . 7 | AIERN 1:17.6 5-7 Mna|l - 8 480 | LAEfR (KH)
1811 F1772XT)N— T s 2 1/2) +3) HHg=
L:xF1=FGrp—R B/ A byTLT o HET77—L4
® I —F—@EBIERL
13—7+—
23—F—
Jol=5r= 3,9,10,2,(5,11),8,6,4,1,7
43—F— (3,9),(2,10),8,5,11,6,4, (1,7)
[ N3
B OB 10 2,100 714K 9-10 2,100M 7 E 7-8 1,150M 3EHE 8-9-10 4,770
8 B 10 270M 8-10 620 B 8-7 3,130M K31 10-9-8 41,720
9 390H 8-9 780M B E 9-10 6,940
8 130M4 B H 10-9 19,040

ABICOVWTRDTEEERROODE. TR LIV,




